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XUMMUYECKKI COCTaB U Ko oo

HOCThL paLiMoHa NMUTAHUA

B Wkofe-uHTepHare r. Xercsy ci 09.01.2025r - 31.01.2025r 12-18 net
Ne n/n{HaumeHoBaHue XUM. COCTaB W 3HepreTMyeckas LIeHHOCTb
NPOAYKTOB ECTRO Benku,r  [Xupbl,r  [Yrnesogpbl|3Hepr.
MECHU r LIEHHOCTb, KK
1|1 Xneb niLeHnYHbIA 2 i 260 15,4 6 99,6 5240
2|Xne6 pxaroi 20 7,9 1,4 41,0 217,2
3|Myka nuieHuuHas L 20725 21 0,2 14,0 67,6
4|Mvra @apTothensHen ) 3 $) 00 0 0,0 0,0
5[Kpyna, 60608-1e e a7 4,075 0,995 32,3 164,2
6!{maKkaporHkLIe n3nenus ¥ a0 2,08 0,22 14,0 67,4
6]Kaptodens . 187 2 0,7 32,4 149,6
7]0BOLLIM pasHbie B L1518 3.2 0,3 19,0 120,1
8|®pyKThl CBEXME et 185 0.0 0,7 18,1 83,25
9|cokv pyKTO8bLIE i | 0,8 0,0 20,6 84
10| PpyKibl cyxme ; E 0,4 0 10,7 454
11)KonanT. vsnenna 1,1 3,0 10,4 69,948
EEs ) S O 5] 1340
13'Macno cmsosos K 25,4 0,5 231,4
14 Macno pacturensHoe o 0! 18,0 0 161,8
15 Hinuo (um) - 3 0,1] 0,1 0,0 1,6
16:Moncko 2,5% 5 9, 8,8 16,5 182
17 Teoper 9% i 10.2 54 1,21 96,2
18,roggouH2 1 xaT 6/K 14,0 7.9 0 1277
|19 CySnpoay 69 1.2 0 49,2
20; LibinasTe 99, 85 0,265 97,0
21,Puiba (punis 12,8] o 0 66,2
22:Cmetara 15Y% 5 x 0,3 2 0,3 20,6
23 Ceip 3,5 4.4 0 54
0,4 0,1 0,1 0
0 0 0 0
= 0,2504! 0,21]  0,3348 4,56
z 0 0 0 0
H ¢ 0 0 0
= k 0,0 0 0
111,0 97,3 366,7 2819,9




